
1) (-50) + (-83)

Answer: ____________

2) (-50) + (-83)

Answer: ____________

3) 3000 ÷ 1000

Answer: ____________

4) Find the percentage change from 4 to 9

Answer: ____________

5) Find the mode of the following set of data:

40, 40, 40, 40, 40, 49, 49, 49, 21, 
21, 21, 21, 21, 19, 19, 19, 19, 19

Answer: ____________

6) 46/8 ÷ 54/9

Answer: ____________

7)
20  Find Volume of 
               11       Cylinder 

Answer: ____________

8) 89.3 - 85.7

Answer: ____________

9) Write 10.1 x 108 as a normal number.

Answer: ____________

10) 40.5 + 15.6

Answer: ____________

11) Round 25.0546617 to 5 significant 
figures.

Answer: ____________

12) 52/4 ÷ 42/3

Answer: ____________

13) (-80) - 79

Answer: ____________

14)
20

Volume of Cone 
20

Answer: ____________

15) (-37) - 55

Answer: ____________

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

May 16, 2022

Sr: 16052022-2642

 

http://www.geekschool.co.uk


16) Find the value of 'j' by completing the 
square of the following equation: 2 + 
8j + 16

Answer: ____________

17) Find the median of the following set of data:

39, 39, 29, 10, 14, 12, 29

Answer: ____________

18) Find the median of the following set of data:

39, 39, 29, 10, 14, 12, 29

Answer: ____________

19) Decrease 45 by 60%

Answer: ____________

20) Increase 50 by 96%

Answer: ____________

Total: ___ / 20
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Answers:

1) -133 2) -133 3) 3 4) 125% 5) 40 6) 171/196 7) 7602.6542216873

8) 3.6 9) 1010000000 10) 56.1 11) 25.055 12) 15/28 13) -159 14) 8377.5804095728

15) -92 16) (j + 4)2 17) 10 18) 10 19) 18 20) 98
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